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1. Read the following passage and answer the questions that follow :

Unlike the most sea expeditions undertaken in the tropics, our expedition to Round Island was an unqualified
success: that is if you overlook the fact that Wahab was seasick, Dave suffered from heat stroke, and |
attempted to gain an Olympic Gold Medal for the longest, most painful elbow slide attempted to date on the
island.

Getting up at four in the morning in a strange hotel is the always sobering, especially when you suspect, from
bitter experiences in other parts of the world, that you are the only member of the expedition who is being
stupid enough to be on time or maybe to appear at all. I always have a guilt complex when | get up too early in
a hotel and feel it in incumbent upon me to creep about so as to avoid disturbing my less eccentric fellow
guests. However, blundering about in unfamiliar territory is fraught with difficulties. On this occasion, these
started with trying to find the light switch and knocking over the bedside table with its decoration of a large
water jug, glass, clock and three pamphlets on the fauna of Round Island. Next came the crashing descent of the
lavatory seat ( like a cannonade being fired across the bows of every sleeper in the place) to be followed by a
rattle as of musketry as the water pipes cleared their throats, merging into a roar of the shower which, at the
hour, sounded like cataclysmic eruption in Karakatoa in 1883. The only pleasure | derived from the whole
dreary performance was the thought that | was waking my companions, who should have been up already.

a. Choose the correct meaning of the following words as used in the passage. (3)
I. incumbent

a. to be one's duty

b. responsible
c.scrupulous

d. None of the above

ii. blundering

a. wandering about

b. moving about clumsily
c. loitering

d. journey

iii. cannonade

a. battlefield

b. thunder and lightning

c. continuous firing from cannons or big guns
d. explosive

b. Answer the following questions briefly in your own words :

I. Was this expedition to Round Island really an unqualified success? Give reasons. (2+2)
ii. Why does the author consider his fellow guests less eccentric? (3)

iii. Mention briefly two of the difficulties the author encountered. (3)

iv. What is ‘cataclysmic eruption’ referred to? (2)

v. What is compared to a ‘cannonade being fired'? (2)

c. In not more than 50 words of your own, describe why the narrator suffered from guilt complex. (8)

2. Do as directed : (20)

1. The Mayor is opening the new school tomorrow.
B: The new school.......

2. If 1 do not come, Raman will.

Use ‘either’ to rewrite.

3. He doesn't mind if Ravi records his speech.

Use 'recording’ to rewrite.



4. It annoys me how often people use cellphones on the road.

B : I wish people......
5. 1 am listening to such a miraculous and enchanting music for the first time.
B:Thavenot..............

6. Can you imagine how the people at places having — 24° C temperature survive?
Begin: You cannot .........

7. He never expected to receive such a nice gift from his friends.

Begin: It was ......

8.Radhika is unable to accept this shocking news.

(Use: cannot)

9.The costume was of such grandeur that Cathleen could not fake her eyes off it. B.The costume
Was.........

10.The lecture was  unintere sting but at least it was long. B.Though..............
11.Immediately after the clowns entered the ring,the audience burst into laughter. B.Hardly......

12.'l am sorry'he said to me.'l don't suppose it will be of any use if I say | won't meet him again without your
knowledge'. B.Hetold.........

13.As soon as Karan came home he switched on the lights. B.No sooner....................
14.The foolish girl threw all the water away before she put the kettle on the fire.
B.Having....

15.0nly people dressed in 18 th century style may attend the party.

B.If you......c.........

16.His behaviour vexes me at times.

Bl

17.1f you practice frequently,you will become very skilful at playing the violine.
B.The more.....

18.The Spicejet Airlines is the most popular domestic airline flying in India now.
B.No........

19. As soon as | entered the house, it started raining.

B : Hardly......

20. I play both tennis and squash.

Use ' not only' to rewrite.

B. Choose the correct option : (4)

1. Ramesh is addicted smoking.
a.to b.in c.on.d.in

2. We were all surprised her behaviour.
a.at b.with c.on d. by

3. She finished her breakfast and then ran catch the bus.
a. at b. after c.to d.upto

4. Arun had to work a month to paint the house.
a.on b.in c. for d.to

C. Choose the correct option : (3)

1. One morning | the python curled up on the dressing table.
a. see

b. saw

C. was seen

d. None of the above.

2. Before my trip to Paris two years ago, | to France.
a. have never been

b. would never have been

c. had never been

d. None of the above.

3. By this time tomorrow, he at his work for a week.
a. will be working

b. will work

b. will have been working

d. has been working

D. Join the following sentences without using and, but, so, because : (18)



. The old man was wise. His children did not respect him.

. We started out for the opera. It started drizzling.

. I don't want to buy apples. I don't want to buy cherries.

. He should get the scholarship. He has worked hard for it.

. He has not submitted his project file. I know the reason.

. Everyone knows Geet Sethi. He defeated Bob Marshall in billiards.

. To apologise for your mistake is not a sign of weakness. It is a sign of strength.
. She bought the green dress. She bought the red dress.

. The minister was wise. The king did not trust him.

10. We reached the port. The storm came on.

11. One should not borrow money. One should not lend money.

12. She will win the prize. She deserves it.

13. The bottle was on the table. It was filled with water.

14. Smoking is injurious to health. Ram smokes.

15. Bullet is my pet dog. He is a terrier.

16. I woke up at 5:30 a.m. | went for a walk.

17. Jawaharlal Nehru died in 1964. He was the first Prime Minister of India.
18.The word of command will be given. You will fire.
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1. Tick in the correct alternative. [10 X 1 =10]
a) What were the people doing on their rooftops in the poem ‘Patriot’ ?
l. dancing
Il. shouting
[ll.  gathered to see the patriot
V.  throwing stones at the patriot
b) Sibia’s last meal consisted of
l. Chapatti, green chilli and rancid butter
. Chapatti, butter and dal
[ll.  Chapatti, butter and jam
IV.  Chapatti, green chilli and dal
c) What cheers up Shylock after hearing of his daughter’s theft ?
l. Tubal tells a joke
I. News of Jessica’s marriage
[ll.  Antonio’s financial ruin
IV.  Bassanio’s financial ruin
d) The poem “Patriot’ is written by
l. Roald Dahl
I. William Wordsworth
[ll.  Robert Browning
IV.  David Roth
e) Why is the little girl in the story “The little match girl” scared to go home ?
l. She does not want to control the little boy again
I. It is dark outside
[ll.  She does not want to disappoint her mother
IV.  Her father would beat her
f) The free bird in the poem ‘| know why the caged bird sings’ demonstrates

freedom and power when it
l. stalks down it narrow cage
Il. sings with a fearful trill
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[ll.  shouts on a nightmare scream
V.  claims the sky

g) Sibia was dressed in
l. Dawn-coloured rag
I. Earth-coloured rag
[ll.  Green-coloured rag
IV.  Blue-coloured rag

h) Whom does Portia send to Padua to secure clothing and documents for herself
and Nerissa?
l. Lorenzo
I. Portia’s cousin, Doctor Bellario
. Portia’s servant, Balthazar
V. Portia’s servant, Nerissa

i) What do the passers-by think about the matches in the girl’s hand in the story
‘The little match girl’ ?
l. She found them on the street
Il. She was playing with them
lll.  She was trying to sell them
IV.  She used them to keep herself warm

j) The caged bird in the poem ‘I know why the caged bird sings’ represents
l. an animal who is locked up
I. the hope of the future
lll.  the loss of freedom and choice
IV.  ignorance

Answer any six questions taking at least one question from each book.

Merchant of Venice

2. Portia -
And yet a maiden hath no tongue but thought-
| would detain you here some month or two
Before you venture for me. | could teach you
How to choose right, but then | am forsworn.
So will I never be. So may you miss me.
But if you do, you’ll make me wish a sin,
That | had been forsworn Beshrew your eyes !
They have o’erlooked me and divided me;



One half of me is yours, the other half yours,
Mine own | would say; but if mine then yours.

a. Where does this scene take place ? What is meant by the first line of extract ?  [3]
b. What reason does Portia give at the end of her speech for speaking so long ? What
does this show about her feelings for Bassanio ? [3]
c. Why can’t Portia teach Bassanio to choose the correct casket ? [4]
3.
Shylock -

I'll have my bond! Speak not against my bond!
| have sworn an oath that | will have my bond
Thou call’dst me dog before thou hadst a cause
But since | am a dog, beware my fangs.
The Duke shall grant me justice. | do wonder
Thou naughty gaoler, that thou art so fond
To come abroad with him at his request

Antonio-
| pray thee hear me speak.

a. To whom are these words spoken ? When ? Who else is with the characters ? Where

are they ? [3]
b. Why is Shylock after Antonio’s life ? [3]
c. How does the scene end ? Bring out the significance of the scene ? [4]
4. Shylock -

To bait fish withal. If it will feed nothing else, it will feed my revenge. He hath disgraced me
and hindered me half a million, laughed at my losses, mocked at my gains, scorned my
nation, thwarted my bargains, cooled my friends, heated mine enemies—and what’s his
reason? | am a Jew. Hath not a Jew eyes? Hath not a Jew hands, organs, dimensions,

senses, affections, passions? Fed with the same food, hurt with the same weapons, subject
to the same diseases, healed by the same means, warmed and cooled by the same winter
and summer as a Christian is? If you prick us, do we not bleed? If you tickle us, do we not

laugh? If you poison us, do we not die? And if you wrong us, shall we not revenge? If we are

like you in the rest, we will resemble you in that. If a Jew wrong a Christian, what is his
humility? Revenge. If a Christian wrong a Jew, what should his sufferance be by Christian
example? Why, revenge. The villainy you teach me | will execute—and it shall go hard but |
will better the instruction.

a. How does Shylock plan to match the villainy of the christians ? [3]
b. Where does the scene take place ? Name the characters that are present in the scene
? [3]



c. Bring out the significance of the speech. [4]

Treasure Trove

5.
Alack, it was | who leaped at the sun
To give it my loving friends to keep!
Nought man could do, have I left undone:
And you see my harvest, what | reap
This very day, now a year is run.
a. Who is ‘I’ in the above extract ? What does leaping at the sun signify ? [3]
b. Explain what ‘harvest’ the speaker is referring to. [3]
c. State whether the speaker feels sad about the past. Give reasons to support your
answer. [4]
6.

The free bird thinks of another breeze
And the trade winds soft through the sighing trees
And the fat worms waiting on a dawn bright lawn
And he names the sky his own

But a caged bird stands on the grave of dreams
His shadow shouts on a nightmare scream
His wings are clipped and his feet are tied

So he opens his throat to sing.

a. What is meant by ‘another breeze’ ? Why does the free bird think of another breeze ?

[3]

b. What is the ‘grave of dreams’ ? Why does a caged bird stand on the grave of dreams ?
[3]

c. On the basis of the above extract, bring out the main conflict in the poem. [4]

But a bird that stalks
Down his narrow cage
Can seldom see through
His bars of rage
His wings are clipped and
His feet are tied
So he opens his throat to sing



a. Why do you think the cage is ‘narrow’ ? What is meant by ‘his bars of rage’ ? [3]
b. Why does a bird that stalks down his narrow cage can seldom see through his bears of

rage ? [3]
c. Whom does the poet indirectly refer to while mentioning the free and caged bird ? Why
? [4]

Treasure Trove (Short Stories)

8.

From the day, perhaps a hundred years ago, when the sun had hatched him in a sandbank,
and he had broken his shell, and got his head out and looked around, ready to snap at
anything before he was even fully hatched - from that day when he had at once made for the
water, ready to fend for himself immediately, he had lived by his brainless craft and ferocity.

a. How can you say that the crocodile was very active even before he was fully hatched ?

[3]

b. What were the dangers facing the young crocodile ? [3]
c. How is the body of the crocodile strong enough to protect him ? How was he vulnerable
to an attack ? [4]

9.
She struck another-it burnt clearly and, where the light fell upon the wall, the bricks became
transparent, like gauze. She could see right into the room, where a shining white cloth was
spread on the table.

a. Who is ‘she’ referred to in the extract ? Where was she ? What happened when she it

the match stick ? [3]
b. What does the light from the matches symbolize in the story ? [3]
c. Explain why the girl lit the whole bundle of matches at the end of the story. How does

this reflect on her mental state ? [4]

10. Answer the following questions with reference to Norah Burke'’s short story, “‘The Blue
Bead'.
a. Describe Sibia’s experience at the bazaar. [3]
b. Who were the Gujars ? Give a brief description of their lifestyle. [3]
c. Describe how Sibia rescued the Gujar woman from the crocodile. [4]
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Question 1 (10X 1=10)
Choose the correct option:

i.  Complete the given analogy.
Simon Commission : Civil Disobedience Movement : Cripps Mission : ?
a) Non-Cooperation Movement
b) Partition of India
c) Anti-Partition
d) Quit India Movement

ii.  The Supreme Commander of INA:
a) Subhas Chandra Bose
b) Rash Behari Ghosh
c) Jawaharlal Nehru
d) Lord Wavell

iii.  According to the Indian Independence Act, 1947, which of the following are applicable to the
princely states:
i. They could remain independent.
ii. They could join India.
iii. All treaties with the British were terminated.
iv. They could choose to be a part of Pakistan.

a) All of the above.

b) Onlyiii.

c) Onlyii. &iv.

d) None of the above.

iv. Unity, Faith, Sacrifice were the motto of the Forward Bloc.
Replace the underlined word to correct statement.
a) Indian National Congress.
b) Indian National Army.
c) East Indian Association.
d) The Muslim League.

v.  Gandhiji signed a pact with to end the Civil Disobedience Movement.
a) Lord Mountbatten
b) Lord Wavell
c) Lord Irwin
d) Stafford Cripps



vi.

Vii.

viii.

Identify the clauses of the Rowlatt Act.

a) Vernacular Press must not publish anything against the British.

b) Compulsory License for arms.
c) Suspension of the writ of Quo Warranto.
d) Restrictions on the movement of people.

Which movement did Gandhiji withdraw due to Chauri Chaura incident?

a) Civil Disobedience
b) Quit India

c) Anti-Partition

d) None of the above

Mountbatten was deputed to India for the following reason:
a) Toimplement Lord Wavell Plan.

b) For effective administration.

c) To delay the partition of India.

d) For peaceful transfer of power.

Identify the proposal of the plan formulated by Mountbatten:
a) Setting up a Boundary Commission.

b) There would be grouping of provinces.

c) Formation of Constituent Assembly.

d) The country would not be divided.

The first and the last Governor General of India was:
a) Mountbatten.

b) Lord Wavell.

c) Dr. Rajendra Prasad.

d) C. Rajagopalchari.

Question 2:

Answer the following questions:

i
ii.
iii.
iv.
V.
vi.
vii.

viii.

Mention any two provisions of Rowlatt Act.

(10 x 2= 20)

Name the two leaders of Punjab who were arrested before Jallianwala Bagh incident.

Who were Sir John Simon?

Name the leaders who opposed Nehru Report.
Why Cripps Mission failed?

Who gave the formation of Forward Bloc and why?
Mention any two objectives of Forward Bloc.

Name the islands handed over by Japan to Subhas Chandra Bose.

Why Mountbatten came to India?

Name the leaders with whom Mountbatten hold the negotiation.



Question 3:
In the context of the Civil Disobedience Movement , answer the following:

i The Nehru Report.
ii. The Lahore Session of Congress.
iii. Impact of the Movement.

(3+3+4=10)
Question 4:

Trace the programme of the Civil Disobedience Movement under the leadership of Gandhiji with
reference to the following:

i The Dandi March.
ii. The Gandhi-Irwin Pact.
iii. The Second Round Table Conference.

(3+4+3=10)
Question 5:
With reference to the Indian National Army, explain the following :
i Role of INA in the freedom struggle.
ii. Contribution of Subhas Chandra Bose.
iii. Red Fort trail.
(4+3+3=10)

Question 6:
Regarding the Partition of Indian, answer the following:

i Clauses of Mountbatten Plan.
ii. Reasons for the acceptance of Mountbatten Plan.
iii. Provisions of Independence Act, 1947.

(3+4+3=10)
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PART — 1|

QUESTION - 1

Choose the correct answer : [10 X 1=1]

a)

b)

f)

9)

h)

)

The direction of wind over northern plains during summer :
1) North East

2) South West

Cause of rainfall in north western part of India during winter:
1) Western disturbance

2) North east monsoon

The sudden approach of monsoon with heavy rainfall :

1) Break in monsoon

2) Burst of monsoon

Over this state both the branch of south west monsoon meets :
1) Punjab

2) Jammu and Kashmir

This are organic or inorganic substances having inverse relation with quality and
quantity :

1) Rocks

2) Minerals

It is alloyed with zinc to make brass :

1) Copper

2) lIron

Ammonia, benzol are obtained from this mineral resource :
1) Coal

2) Petroleum

It is found in under ground reservoirs in rock formations like limestone, sandstone,
shale :

1) Petroleum

2) Coal

India have higher prospects of solar energy because :

1) Itis located in the eastern hemisphere

2) Itisin the tropical zone .

This energy is composed of methane , carbon dioxide , :

1) Biogas

2) Nuclear power

QUESTION -2



ON THE OUT LINE MAP OF INDIA MARK AND NAME THE FOLLOWING :[10x1=10]

a) Himalayas

b) Coromandel coast
c) River Narmada

d) Aravalis

e) Chotanagpur plateau
f) Kanchenjunga

g) River Tungabhadra
h) Wular lake

i) Gulf of kutch

j) Thar desert.

PART-II
QUESTION -3

a) Give reasons : [3]
1) There is no rainfall over Indian subcontinent during winter.
2) Kaolkata gets rainfall from south east monsoon.
3) There is a desert in western part of India.

b) Why there is variations in climate of India? [2]

c) Differentiate between retreating monsoon and north east monsoon. [2]

d) What is October heat, cherry blossom and kalbaisakhi ? [3]
QUESTION — 4

a) State two uses of iron ore. [2]

b) Give reason : [2]

1) Manganese is used to make steel .

2) Copper is used in electrical industry.
c) What are the uses of manganese other using it in iron and steel industry. [2]
d) Name the minerals associated with the following centres : [4]

1) Durg

2) Srikakulam

3) Balaghat

4) Singhbhum

QUESTION -5

a) Differentiate between conventional and non conventional sources of energy. [2]
b) Give reasons : [3]
1) Gondwana coalfields are better than tertiary coalfields.
2) Petroleum is called liquid gold.
3) Natural gas is gaining popularity.
c) Name an offshore and an onshore oilfield of India. [2]
d) 1) State one disadvantage of using coal a source of power. [3]

2)What is Sagar Samrat ?

3) Why petroleum is loosing its popularity ?



QUESTION- 6

a) State two uses of solar energy. [2]
b) Name two states where wind energy is popular and why it is popular there. [3]
c) Name two nuclear power station of India . State two problem of nuclear power.[3]

d) Sate two advantages of biogas. [2]
QUESTION -7
a) Name the benefited states from Bhakra Nangal project. Why this project was
constructed? [3]
b) Give reason : [3]

1) Delhi have high annual range of temperature.

2) Indian monsoon are erratic in nature.

3) Mawsynram gets highest rainfall .
c) State two advantages of wind energy. [2]
d) State two uses of coal. [2]
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Attempt all questions from Section A

Section -A
Marks - 34

Question 1.

fAfaf@a favat & & Ry v Tawr 9 oemster 250 ersal & s faeer faf@w(15)

| AGTIR H IgeT o AT T T gIAdT ¢ |

. GTH AT A AR aY HT YHE FATIIT HT 3cHe g AT HITGT |

iii.37e faerery T fRdl W eIl & Uil 1 quie HIfST fHE 39 39 AT S agd § |
iv. AT ST 3dReT ImET|

Question 2.

Afof@d vt & & R v fawr o 120 ersef # 9= fif@u 1(7)

1.3 T g5 fBAaTs AT Tear H Rehrard gof A1 §u T Ifod Jefiars 1 R o
fafaw|

2.37ETEY Sleloll & AR &l ARl ol o ToIT &er Sif & 99 ff@u|

Question 3.

o forg rearer & ggax 38T o feU 9T geat & 3X 39e el A faf@u-

Tehotdlel H Ueh ST L@l UT| 38 Teh Tl T helell STel W YT I TARET AT| FEL-3EW
¥ fieTeh SR &Y YE EIell FART I-T AT| Shelell STel T3 A 3R gl argel # &1 379e0
Ucell g d<dl & A1 Al SiaeTarde & 8T AT| §37 & god gi7el J fd & Ia | A
SAYDR TEd-I6d HTE ol HLIAT 3T aAT| TTell g5 ofam|ehe 3N JUR AR g1y W f&ote o)
ST & dlel diel Tl 35 9T 3HRT SoigR Bielarhs! 93 =AY 3HHT M@t 3R Y Frell g5 a4 |
det # TAuer g3 Jeq@ I, 3T ade AT oehst AT o FfooT & 1Tl 38R FIC dH
SSIT W] ST Yol BT H 37Teiq qdeh Siidel A9l LT T&T|

T Ueh feeT aigel AR 3| gaT SR & Toler o] fostell IdHadr 3T el Hraga o &
91¢ 91T 39T ¥ fORa &9 IRY 3R 37ERT ST IAT| SRTehT HATARAT 96 5|

S fastel gHh a 931 & 3rver favEiae @ aee Heren|3aa dar % F5 & ¥ v deY dar
§mﬁlmmméﬁ3ﬁsmwtyum geall @ Hg PUIT JaT AT|I=AT 6T §¢ doT gar
& HROUT fAEST gt 38F R W gt 2| g TS ST @I AT ST & 39 9 AT 37 TS| 387
deX § &gl "IN ATS! JASH °R AT H FT e 38T W@ g7 A o AT AGeAd ek IHIAT e
o6l §eI1 foram? JHST e e g T 8! 4@l A el geuiaer s« am § 38 & &7 3
AT 3R Ss A o gEh §19fe A #3Tey et 39eT &R 9T ofd ol &g 30 AR Hd
H ST HSC Aol US| TS, AEH HR G20y & HraA |

delel o Sl T gl foh g ald fhefacrat 931 & aide & 3R $19er| 3Haar &1 bidel
g & o FRT G isar #ashd gl sl Redlel oo |3d ag 9eardid & AfaRed & off
FT bl AT? 3 39 HA H Hrar-dr@ 38T &I et A1igv 58 @@ 3y o4l

96T

LT o HYT GiFeT R YRR ST AUT12(1)

ii. AT & AL H FAT R IRTAT gIH(L)




.7 o §e & T T &r2(1)

iv. 39 Fglell ¥ g5 a7 e et & 2()
V.Ul 93T &7 31 § (1)

1.37&d 9ol

2. ShaRT glelT

3.3 3T

4TI H 95T

VLSSl & dlel diel Hol AT 35 1T 2(1)
1.9d gar 96 d

2,091 g9 & I8 A

3.80d @ quR T HieH o

43T & FAGH & HROT

vii.fRT U3 W ST F 37941 g9iger ST ar 2(1)
1.3 &

289 &

3.37A%CE +

489 &

viii. Sgel & U3 § FA7 AT 8-(1)
LeTdel g e

259X 9 3H

3. %ol g STel

AZRFT H I HI5 AT

Question 4.

fArfafEd weat & 3 AdAar faf@e-

i fFafaf@a ereal & & fohegl aF weal @7 Yy Hifare-(1)
faferelr, 3refieiar, asia

ii.fFTfafT HgreRt A @ AT v HeraX &1 HY fawet arrg SAsT (1)
ST W THS DShaT, Sldl Il 3ITel calam

iii. fATOT 2reg T A 8-(1)

1.9AT10T

2. °THATT

3.faaer

4 ot

iv. AT o M IAT| (37 a1 JfEST Fiel A T e )(1)
1A afra Iy oY

2. fAenr 3T Imuafy|

3.H AT o T AT AT

4.7 T TS|
Section - B
Marks - 36

Attempt any Four questions from Section B, answering at least one question each from two books you have
studied and any three other questions.

qifged - WP
M - AT

Question 5.



gHTS G & Fefel dofarder & s Shaurdy freie & §div, FAR, @9 e 3R e &)
i, &8, Stgcd 3N FgAleT o |ATS 3meTRaet (33 AR AT gReew wam)

i, T8I ‘g erse, &1 9T fhas foaw g-(1)

1.8t

2. 73t

3.faRY

4.3 STeTa’T

ii. S & AT & d1G HY FATS AT Hodall S A 2(2)
ii.gAd & AT AT A 1 Frar? AT RIdr 1 F2q1 HROT A12(3)
iv. Tg faT 3R S & olivdT & 39 g &1 fhdar #gea £2(3)

Question 6.

"FTITSTIR 37 Toioiid AT &l Il o JoliT G-aR &1 foigdlt Ay T8l Saliear, ¥ I Ty §,
AT §1"(@ HATPR - Hew] HSRY)

i. fersifar ereg &1 37 g-(1)

<ic)

2.31509

3.99lTeT

4 STTeAcX

ii.gedr 3R sar &1 9= ST 2(2)
iii.’sreTeT WX sl [Er & 3T Far gFsta § 23w fOEr o @siia #af g | £2(3)
iv.3UReFd HUT H T, T Hl [ FF A T & T IRT F ET 82(3)

Question 7.

et 3a% E & g7 A9 ... 38 T A 9 H dr HEIRIS FlAH & HioH FT AT
MET & 3 HIR W 4,7 S 39T ST $o el TS1" (@ FHollhR- Hewl $HSHY)

i. 39 " & arcad g-(1)

1. fA@Ert 3R 39 & 3=y gt arel = @

2.2 HAPR & dof T &

3. TS AT arel &7 &

4. STTel STeTeRt & T @

i. 39 T a Far 3m § 38 IR #F [f@urQ)

iii. 'NEIT T 'FIR Ual F FARIIS s Tor@d gU 913U o MeXd T AT & Sfaet & &
Agcd 82(3)

iv. RIAT Ueh Hgcareiall Jach oAf 37 319 5§ AT ¥ HGA & TS HfaIv(3)

aifgcd - PR
e HIET

Question 8.

WU dleye FHife &,



I CCEC DI

& a9 o3 @ S8 ||

g R sfarr sig AT $r afgw

gy 99 s 9,

a3 o & WUl (AR & FHefeal- ARt Hiam)
. A & ATAR fohd 95 A ST & g doar ArigA?(1)
LSl & U3 & A

2.8 93 & A=

3.9del Us & AT

AZSTH ¥ HIS TGl

i.olg AlC I ART & FiF &1 FT T 82(2)
iii. AT 3R gder 9t AT T=T ¥ HiF F G I THa 82(3)
iv. Td 30 Hsfodl & FAT HA ST =6 82(3)

Question 9.

=g faeg faeg yag &

fohaent o€t Tg=T gt

JU-g@ gAY &1 @

feherenl w1gT Tgetr gsr

R =T Fa7 Fgar e,

AT W faumar a § |

AT FART HH g1 (Tolell GART H1HA g Riadare &g gae)
i faemar aeT &1 37T g-(1)

1.3 T TSC Blel

2 GooldAl T TSC
3.39a¢ &I ¥SC glaT
A ATAT AT T &€ glT|

ii. TgT i of FER H 5T ATag F1 3eor@ HAT £2(2)
iii.STael T Tk fhd TR Toldl g2 AT for@l(3)
iv. 198 O AT HJST T fohd geeldl &l AT &2 FAsAER Toreh|(3)

Question 10.

Sfiael 3T fow g,

qrdT e, @idr s

mer-foRrem & o,

gogar s, ar e

afd #fd 7 8 9%y,

SR CITT 33T AT &

TAAT FART HTH g1 (ToleAT GART F1HA - Riadere [8g goe)
i.'TlAT §ART 1A & Fiadr I gH.... Fadr §1(2)
1930

2.9

3.9

4.9&@’

ii. et &Y 3T AT gl =T § 91T §2(2)



iii.arfd AT o g 3ravey & fa &1 F1 dread § 2(3)
iv.ollael # g@-g@ M- fARm & 9fd gART 7 giSeahlvr gl dTigu?(3)
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Section: A

(Attempt all questions)
Question 1: (MCQ) [5%2=10]

(i) In a Recurring Deposit Account, if P= Rs.600; M.V. = Rs.24930; r=10%per annum,
then the time (in years)for which the account is held will be

a.lyear b.2years c.3years d.4years

(ii)) The sum of the reciprocals of Rehman’s ages 3 years ago and 5 years from now is
1/3. The present age of Rehman is:

(a) 7 (b) 10 (c) 5 (d) 6

(iii) 11th term of the A.P. -3, -1/2, 2 .... is

(a) 28 (b) 22 (c) -38 (d) -48

(iv) If [x —32}/ }5/] = [g _Sz]then the value of x is
(a)-2 (b)O (c) 1 (d) 2

(v) It is given that AABC ~ ADFE, ZA = 30°, ZC = 50°, AB = 5 cm, AC = 8 cm and DF =
7.5 cm. Then, which of the following is true:

(a) DE = 12 cm, £F = 50° (b) DE = 12 cm, ZF = 100°

(c) EF = 12 cm, £D = 100° (d) EF = 12 cm, «D = 30°

Question 2:

a. Manish opens a Recurring Deposit Account with the Bank of Rajasthan and
deposits X 600 per month for 20 months. Calculate the maturity value of this account,
if the bank pays interest at the rate of 10% per annum. [3]

b. For the following, find the amount of bill data: (4]



Rate per piece (in 2.) [ Number of pieces | Discount % | GST%
18 360 10 12
12 480 20 18
12 120 5 12
28 150 20 28

c. Solve the inequation and represent the solution on number line:
12+1§x§5+3xandx€32. [3]

Question 3:
a. Find the value of p, if the following quadratic equation has equal roots:
42 - (p-2)x+1=0 [3]

b. Find the values of constants a and b when (x — 2) and (x + 3) both are the factors of
expression x3 + ax2 + bx - 12. [4]

c. P is a point on side BC of a parallelogram ABCD. If DP produced meets AB
produced at point L, prove that: DP : PL = DC : BL. [3]

Question 4:

_ va+3b+va-3b

= : 2 _ =
a.Ifx Tat3b_Jaz3p Prove that: 3bx* — 2ax + 3b = 0. [3]
b. The sum of three numbers in A.P. is 15 and the sum of the squares of the extreme
terms is 58. Find the numbers. [3]
c.

IF;&=[3 ><]Elr'|-::|B=[9 16},ﬁndxandywhen A =B,
01 0 -y "

Section: B
(Attempt any 3(Three) questions)

Question 5:

a. Ashish deposits a certain sum of money every month is a Recurring Deposit
Account for a period of 12 months. If the bank pays interest at the rate of 11% p.a.
and Ashish gets ¥ 12,715 as the maturity value of this account, what sum of money
did money did he pay every month? [4]

b. Find the range of values of x which satisfies

2 1 1
—2 —Z2x+ =<3 =, x R,
3 3 3

Graph these values of x on the number line. [3]



c. Solve:

{1+><i1}[1_><i1}=% [3]

Question 6:

a. Goods/services are sold from Agra (U.P.) to Kanpur (U.P.) for Rs. 20,000 and then
from Kanpur to Jaipur (Rajasthan). If the rate of GST is 18% and the profit made at
Kanpur is Rs. 5000, find:

i. the net GST payable by the dealer at Kanpur.

ii. the cost of goods/services at Jaipur. (4]
A:IE landB:I 3]
b. If 13 — 1] find the matrix X such that AX = B. 3]

c. Find two numbers such that the mean mean proportional between them is 12 and
the third proportional to them is 96. [3]

Question 7:
a. Solve the following equation for x and give your answer correct to two decimal

place: 5x2 +10x - 3 =0 [3]
b. An A.P. consists of 50 terms of which 3rd term is 12 and the last term is 106. Find
the 29th term of the A.P. (4]
: : : X,y 2 2
c. Find the third proportional to . + " and \/x* +y [3]

Question 8:

a. The dimensions of a rectangular field are 50 m and 40 m. A flower bed is prepared
inside this field leaving a gravel path of uniform width all around the flower bed. The
total cost of laying the flower bed and gravelling the path at Rs 30 and Rs 20 per
square metre, respectively, is Rs 52,000. Find the width of the gravel path. [4]

b. In the given figure, DE | | BC, AE = 15 cm, EC =9 cm, NC = 6 cm and BN = 24 cm.
Find lengths of ME and DM. [3]

TN

B

c. When x3 + 2x2 - kx + 4 is divided by x - 2, the remainder is k. Find the value of
constant k. [3]
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I)Choose the correct answer from the given options 1x10=10
1. Which of the following is not a dibasic acid?

a)H2SO3 b) (COOH)2 ¢) HCOOH d) H2SO4

2. Acid present in sour milk is :

a)Ethanoic acid b) Lactic acid c¢) Methanoic acid d) Citric acid

3. Acids which disscociate almost completely in aqueous solutions are known as :-
a)Dilute acids b)Concentrated acids c) Weak acids d) Strong acids

4. Acids are

a) bitter in taste b)sweet in taste c)sour in taste d)tasteless

5.0ut of HCl and CH3COOH, the solution with higher pH value is

a) CH3COOH solution b) HCI solution c¢) Both have equal pH d)Cannot say

6.A universal indicator is a

a) solution of phenolphthalein b)solution of methyl orange c)Solution of methyl
orange and phenolphthalein d)mixture of many indicators.

7. A student dipped pH paper in rain water. The colour observed was

a) Orange b) Green c)Blue d)Violet

8.pH of vinegar is

a)7 b)<7 «¢)>7 d)10

9.With increase in temperature,the PH of pure water

a)decreases b) increases c)remains unaffected d) increases and then decreases
10. Which of the following is not used to find pH of a solution?

a) pH paper b)pH meter c)Litmus paper d) Universal indicator



[I)Name the following :- (1x5=5)

A. A reddish brown coloured insoluble base.

B. A complex salt used during electroplating of an article with silver.

C. Two soluble metal carbonates.

D. A non metallic hydroxide acting as weak alkali.

E. A dibasic organic acid.

III) State proper observations :- (1x5=9)

A. Aqueous copper sulphate solution is elctrolysed using platinum electrodes.

B. Molten lead bromide is elctrolysed using graphite electrodes.

C. Concentrated sodium chloride solution is elctrolysed using platinum electrodes.
D. Phenolphthalein indicator is added dropwise to sodium hydroxide solution.

E. Acidulated water is elctrolysed using platinum electrodes.

IV)Give reason:- (1x5=5)

A. Graphite electrodes are used during electrolysis of molten lead bromide.

B. Electrolysis of acidified water is an auto catalysis process.

C. Silver nitrate solution is not used during electroplating of an article with silver.
D. All alkalis are bases but the reverse is not true.

E. DC current is used during electroplating.

V)Give the following informations regarding electroplating of an article with nickel :-
(Ix5=5)

A. Cathode used
B. Anode used

C. Electrolyte used
D. Cathode reaction
E. Anode reaction

VI). Give examples for the following :- (1x5=5)



A. Acid salt

B. Basic salt

C. Active electrode

D. Tetrabasic acid

E. Triacidic base

VII) Answer the following questions

a i) Calculate the percentage of all the elements present in NasAlFe. [Na=23 amu,
Al=27 amu, F=19 amul] (3)

b) A compound contains 1.2% hydrogen, 14.4% carbon & 84.5% chlorine by mass.
Determine its empirical formula. [H=1 amu, C=12 amu, Cl=35.5 amu] (2)

VIIla). A compound contains 1% hydrogen, 33% sulphur & 66% oxygen by mass.
Vapour density of the compound is 97. Determine its empirical & molecular formula.
[S=32 amu, O=16 amu] (3)

b). Which is a better nitrogenous fertilizer between ammonium phosphate & urea.
[N=14 amu, P=31 amu] (2)

[Xa)Calculate the mass of iron in 10 kg of iron ore which contains 80% of pure ferric
oxide (2)

b)Barium chloride crystals contain 14.8% water of crystallization.Find the number of
molecules of water of crystallization per molecule. (3)

X)a)A compound with empirical formula AB; has the vapour density equal to its
empirical formula weight. Find its molecular formula (1)

b)A compound with empirical formula AB has vapour density 3 times its empirical
formula weight. Find the molecular formula. (1)

¢) A compound has 0=61.32%,S=11.15%,H=4.88 and Zn=22.65%.The relative
molecular mass of the compound is 287 amu. Find the molecular formula of the
compound, assuming that all the hydrogen is present as water of crystallization. (3)

XI)Element X is a metal and valency 2.Element Y is a non-metal with a valency 3.
i)Write equations to show how X and Y form ions (2)

ii) If Y is a diatomic gas,write the equation for the direct combination of X and Y to
form a compound (1)



iii) If the compound formed between X and Y is melted and an electric current passed
through the molten compound,the element X will be obtained at the and Y at
the of the electrolytic cell. (2)

XII) Give the following informations regarding electro refining of copper :- (1x5=5)
A. Cathode used

B. Anode used

C. Electrolyte used

D. Cathode reaction

E. Anode reaction

XIII) A. What will happen to the nature of a solution if its pH drops from 3 to 2. (1)
B. How will you show that acetic acid is a monobasic acid ? (1)

C. What will be the colour of a basic solution if a few drops of methyl orange are added
to it. (1)

D. Which is a stronger acid between acetic acid & hydrochloric acid of same
concentration & why ? (1)

E. Give examples of two hydracids. (1)
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Question No. 1. Choose the correct option : (1x10)
i) After meiotic cell division, a male human cell will have -~
a) 44 + XX chromosomes b) 44 + XY chromosomes
¢) 22 + X chromosomes d) 22 + Y chromosomes

ii) Which of the following is a possible pair of alleles?

a) kandt b) Kand T c) Kand K d) Kand t
iii) A normal plant cell kept in hypertonic solution —

a) shrinks in size b) bursts after some time

¢) expands in size d) maintains its size and shape

iv) Root pressure is inadequate for the rise of water in —
a) herbaceous plants b) conifers ¢) shrubs d) small plants

v) Loss of water as droplets from hydathodes is called —
a) transpiration b) bleeding ¢) guttation d) evaporation

vi) During photosynthesis, light is not necessary for —

a) formation of sugars b) release of molecular oxygen
¢) Splitting of water d) formation of ATP
vii) One of the internal factors which effect the rate of stomatal transpiration is —
a) humidity of the air b) wind velocity
¢) turgor pressure d) weather conditions

viii)) A leaf boiled in methylated spirit cannot undergo photosynthesis because

methylated spirit —
a) kills enzymes b) makes cell wall permeable
¢) clogs stomata d) removes chlorophyll

ix) A plant cell may burst when —
a) turgor pressure equalizes wall pressure
b) turgor pressure exceeds wall pressure
¢) wall pressure exceeds turgor pressure
d) cell loses turgidity

x) The cross between two dihybrids results in which of the following phenotypic ratio?
a) 1:2:1 b) 9:3:3:1 o) 3:1 d) 1:1

Question No. 2. Give reason ~ (5)

i) Chloroplasts are called energy convertors.

FPage I of 4



ii) Desert plants have thick cuticle and sunken stomata.
iii) To relieve cough we gargle with salt water.

iv) Females are carries of X-linked diseases.

v) Gametes have haploid number of chromosomes.

Question No. 3. Fill in the blanks -~

(5)

i) DNA replication occurs during .........oeeevvueiieeiiiinnieneeannnnn phase of cell cycle.

ii) Mendel conducted his experiments on ............c.cceiviiiiiiinn..

........... plants.

iii) Raisins when keptina ........................... solution, swell up due to endosmosis.

iv) The oxygen evolved during photosynthesis comes from .............
v) Absorption of water by surface attractionis ............................

Question No. 4. Name the following -

i) The division of nucleus.

ii) The genetic constitution of an organism.

iii) The pressure of the cell contents on the cell wall.
iv) The force created in the plant by transpiration.
v) The solvent of chlorophylls.

Question No. 5. Differentiate -
i) Light & Dark reaction of photosynthesis.
ii) Transpiration & Guttation.
iii) Passive & Active transport.
iv) Autosomes & Allosomes.
v) Mitosis & Meiosis.

Question No. 6. Define the following -~
i) Nucleosome ii) Nucleotide iii) Mutation iv) Wilting

Question No. 7.

i) Name the apparatus.

ii) Why is it used?

iii)  What are the limitations of the apparatus?

iv)  What is the role of the air bubble in the apparatus?

(5X2)

(5)
v) Photolysis

(5)

Question No. 8. A potted plant was taken in order to prove a factor necessary for
photosynthesis. The potted plant was kept in the dark for 24 hours. One of the leaves was
covered with black paper in the centre. The potted plant was then placed in sunlight for a

few hours.
a) What aspect of photosynthesis was being tested?

(5)
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b) Why was the plant placed in the dark before beginning the experiment?
¢) During the starch test why was the leaf :
1) boiled in water.
i) Boiled in methylated spirit.
d) Write a balanced chemical equation to represent the process of photosynthesis.

Question No. 9. Examine the adjoining diagram and answer the question that follows- (5)

a) Give the term for the state of the cell it has attained.

b) What is the tonicity of the liquid surrounding the cell?

¢) Which type of fluid is filled up in the space between the protoplasm and the cell
wall?

d) Make a new diagram if the cell is placed in ordinary water.

Question No. 10. In rabbit, black fur (B) is dominant over brown fur (b). What will be the
genotype and phenotype of offsprings when rabbits of F1 generation are allowed to breed
among themselves? Show with a Punnet square. (5)

Question No. 11. Observe the diagram carefully and then answer the questions given
below :- (5)

1)  Which physiological process is being studied? Explain.

ii) What would be observed in both of the test tubes after two to three days? Give
reason.

iii) Why oil is used to cover the water?

iv) Why test tube B is also set?

Question No. 12. Given beside is the diagram representing a stage during mitosis. Study
the same and answer the questions that follows :~ (5)

i) Identify the state. Give a reason to support your answer.
FPage 3of4



ii) Name the cell organelle that forms the aster.
iii) Label the parts 1, 2, 3 and 4.

iv) What is the function of part 1.

v) Isit an animal cell or a plant cell.

FPage 4 of 4
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SECTION A
Q.1.a) Which of the following is Internal Stakeholders? 10x1
i) Creditors i) Suppliers
iii) Employers iv) Government

b) Point out the expectations of Owners.
i) Fredom to manage
i) Fair remuneration
iii) Capital appreciation in the value of their investment.
iv) Reasonable terms of delivery and payment.

c) Which of the following is not an objective of pricing.?
i) Profit maximization

i1) Market share

iii) Price strategy

iv) Intangibility

d)Premium received on issue of shares is a
i) Capital receipt

i1) Revenue receipt

iii) Capital expenditure

iv)None of the above

e)Cost of goods purchased for resale is
i) Capital expenditure

i) Capital receipt

iii) Revenue expenditure

iv) Deferred revenue expenditure

f) - expenditure is an expenditure benefiting the future period.
i) Revenue.. .ii) Capital

iii) Deferred revenue

iv) Value

g) Consumer Protection Act was passed in the year
i) 1968 i) 1986 iii) 1906 iv) 1952

h) Which of the following is the way of consumer exploitation?
i) Not informing consumers about adverse impact of the product.
ii) Over weighing

iii) Avoiding adulteration

iv) Taking reasonable price of the product.

i) Point out the demerit of advertising

i) Employment generation

i) Undermines social values

iii) Incentive to progress

iv) Stimulates research and development

J) Creation of demand is the main objective of marketing
i) False ii) True iii) None

SECTION B . .6x10
Answer any six of the following
Q.2. a) Explain any five modules in an Enterprise Resource Planning 5 system.
b) Write any five expectations of Goverment from the business. 5

Q.3. Discuss the objectives of marketing. .. 5



b) Distinguish between Products and Services. 5

Q.4. Discuss the objectives of pricing. 5
b) Distinguish between Marketing and Selling. 5

Q.5.a) How advertising is helpful to manufacturer? Discuss. 5
b) Distinguish between Advertising and Publicity. 5

Q.6. a) Discuss the demerits of advertising. .5
b) How advertising is beneficial to the Society? Discuss. 5

Q.7. a) Discuss the functions of advertising agency. . .5
b) Discuss the techniques of sales promotion. .5

Q.8.a) Discuss the salient features of the Consumer Protection Act. 5
b) Explain five main rights of consumers as provided in the Consumer Protection Act. .5

»
il


https://drive.google.com/u/1/settings/storage?hl=en&utm_medium=web&utm_source=gmail&utm_campaign=storage_meter&utm_content=storage_normal
https://drive.google.com/u/1/settings/storage?hl=en&utm_medium=web&utm_source=gmail&utm_campaign=storage_meter&utm_content=storage_normal

Krishnagar Academy
Pre-Annual Examination 2021-22
Class: X

Subject: Commercial Applications
FM 70

SECTION A 10x1

Answer the following questions

Q.1. a) Objective of marketing is

i) Aims at maximisation of customers satisfaction.
ii) Aims at maximisation of profit

iii) Marketing is wider term

iv) Need of the seller is taken care of

b). Aims of sales promotion is

i) To build image of producer and his product
ii) Regular and recurring

iii)To increase immediate sales

iv) Long term perspective

c) Which of the following is the element of promotion mix
i) Product

ii) Publicity

1ii) Price

iv) Promotion

d) Which of the following is the element of product mix
i) Label

ii) Place

iii) Advertising

iv) Personal selling

e) Putting identification mark on the package implies
i) Packaging

ii) Labelling

iii) Grading

iv) Pricing

f) Which of the following is not a feature of the product
i) Tangibility

ii) Utility

iii) Life cycle

iv) Price

g) International market is on the basis of geographical areas
i) False

ii) True

iii) None

h) Which one is not included of the following as a subject of exchange
i) Commodity Market

ii) Capital Market

iii) Money Market

iv) Producers Market

i) The range of marketing oriented stage is
i) 1980 and onward

ii) 1930 - 1950

iii) 1950 - 1960

iv) 1960 - 1980



j) The philosophy of production oriented stage is supply creates its own
demand

i,) False

ii) True

iii) None

. SECTION B
Answer the following questions

Q.2. a) Discuss the market on the basis of position of buyers and sellers.
5
b) Distinguish between product and service. .. 5
c) Explain production oriented stage of marketing and sales oriented stage of
marketing. S

Q.3.Discuss the several Non-Traditional marketing. S
b) Discuss the elements of marketing mix. 5
c) Distinguish between marketing and selling. .5

Q.4.a) Discuss the qualities of good salesman. .5
b) Discuss the importance of personal selling. 5
c) Discuss the various methods of direct selling. S

Q.S. Discuss the demerits of advertising. 5
b) Discuss the various types of advertising. . 5
c) Distinguish between advertising and sales promotion. . 5



Krishnagar Academy
Pre-Annual Examinations-2021
Class: X

Subject: Computer Applications
FM 70

1) Choose the correct option. [10x1=10]
A) What is use of interpreter?

B)

C)

a) They convert bytecode to machine language code

b) They read high level code and execute them

c) They are intermediated between JIT and JVM

d) It is a synonym for JIT

Which of the following is not OOPS concept in Java?

a) Inheritance

b) Encapsulation

c) Polymorphism

d) Compilation

When Overloading does not occur?

a) More than one method with same name but different method signature and different number or type
of parameters

b) More than one method with same name, same signature but different number of signatures.

c) More than one method with same name, same signature, same number of parameters but different
type

d) More than one method with same name, same number of parameters and type but different signature.

D) Which of these is correct about passing an argument by call-by-value process?

E)

F)

a) Copy of argument is made into the formal parameter of the subroutine

b) Reference to original argument is passed to formal parameter of the subroutine

c) Copy of argument is made into the formal parameter of the subroutine and changes made on
parameters of subroutine have effect on original argument

d) Reference to original argument is passed to formal parameter of the subroutine and changes made on
parameters of subroutine have effect on original argument

What is true about constructor?

a) It can contain return type

b) It can take any number of parameters

c) It can have any non-access modifiers

d) Constructor cannot throw an exception

What is not the use of “this” keyword in Java?

a) Passing itself to another method

b) Calling another constructor in constructor chaining

c) Referring to the instance variable when local variable has the same name

d) Passing itself to method of the same class.

G) What would be the behaviour if one parameterized constructor is explicitly defined?

a) Compilation error

b) Compilation succeeds

¢) Runtime error

d) Compilation succeeds but at the time of creating object using default constructor, it throws
compilation error

H) What would be behaviour if the constructor has a return type?

a) Compilation error
b) Runtime error
¢) Compilation and runs successfully
d) Only String return type is allowed
Which keyword is used for accessing the features of a package?
a) package
b) import
c) extends
d) export



2)

3)

J)

What is the range of short data type in Java?
a) -1281to 127
b) -32768 to 32767
C) -2147483648 to 2147483647
d) None of the mentioned

Answer the following:

a)
b)

c)
a)

b)

d)

€)

4)

5)

6)

What is the difference between local variable and instance variable? [2]
What is the difference between a static and a non-static method? [2]
Name two reference data types of java. [1]

Give the output of the following expression:

at=at++ + ++a + --a + a--; when a=7. [2]
What is the result stored in x, after evaluating the following expression?

intx = 5;

X=X++*2 +3*x; [2]
How is the concept of data abstraction implemented in java? [2]
Write a java expression for: \/|2a* + 5b°| [2]

What is the final value of ctr after the iteration process given below, executes?

int ctr = 0;

for(inti=1;i<=5;i++)

for(intj=1;j<=5;j+=2)

++ctr; [2]

Write a program to input two integers and check whether it forms an amicable pair or not.
An amicable pair is such that, the sum of the factors excluding itself of one number is the
other number and sum of the factors excluding itself of the other number is this number.

Example, (220, 284). Since sum of factors excluding itself of :
220= 1+2+4+5+10+11+20+22+ 44+55+110=284
284= 1+ 2+4+71+142=220. [15]

Define a class Book with the following specifications.
Instance variables/data members:
BOOK_NO : int type to store the book number
BOOK TITLE : String type to store the title of the book
PRICE : float type to store the price per copy
Member Methods:
TOTAL_COST () : to calculate the total cost for N number of copies, where N is passed
to the function as argument
INPUTY() : to read BOO_NO, BOOK_TITLE, PRICE
PURCHASE (): to ask the user to input the number of copies to be purchased. It
invokes TOTAL_COST () and prints the total cost to be paid by the user.
Write the main method to create an object of the class and call the above member methods. [15]

Create a class with the following methods:

a. int LCM(int a, int b), which returns the least common multiple(LCM) among the two

integers a and b and return it.

b. void call() to input 10 integers and using the above function find the LCM among the 10
integers. [15]
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Part 1
MCQ: 10 marks
Question:1

1) When total crop yield increases from 20 to 30quintals due to the increase in
the amount of labour from 5 to 6 units, marginal increase in crop yield will be
a)l

b) 5

c) 10

d) none of these

2) Productivity of land depends on
a) Location of land

b)Security of tenancy

c) Proper use of land

d) All of these

3) Migration of people results in
a) Pollution of environment

b) Deforestation

c) both (a) and(b)

d)watercycle

4)Which of the following is not 'labour' in Economics:
a) A farmer ploughing his field

b) A mason building a house

c) A bullock tilling the land

d) A doctor treating his patients

5)Which of the following is incorrect:

a) Labour supply remains constant always

b) Wages are not determined by effeciency.

c) Playing cricket by M.S.Dhoni is 'labour' in Economics.
d) Bank Deposits is capital.

6) ICICI bond is
a) Real capital
b) Debt capital
c) Sunk capital
d) Social capital

7)Which of the following does not fall under Contractual income:
a) Interest

b) Profit

c) Rent

d) Wage

8)Which statement goes against a good enterpreneur:
a) Infuses dynamism

b) Innovates

c) Exploits the potentialities of available resources

d) Averts risk

9) Which of the following is land:
a) Windpower
b) Sunlight



c) Rainfall
d) Coal

10)Which letter denotes 'Capital' in Economics?
a) K

b) Ka

c) C

d) Ca

Part -2
Answer the following questions:

Question 2:

a) What is the impact of industrialization on the ecosystem?  (7+8=15)
b) Explain the following characteristics of land:

Land is heterogeneous.

Land has alternative uses.

Land is a passive factor of production.

Land is an indestructible factor of production.

PO

Question 3:

a) Explain the following:

1) Labour is both the means and ends of production.
2) Human labour carries an element of judgement.

(7+8=15)

b) Mention any four differences between land and labour.

Question 3:

a) Mention the functions of an enterpreneur.
b) Mention any four differences between labour and capital. (7+8=15)

Question 4:

a)Mention the steps or stages in capital formation. (7+8=15)
b) Mention the main characteristics of capital.

(Sem1:10marks
Sem?2: 10 marks
Sem3:10 marks)
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